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| total event counter | Entries 3383
Mean 0.6667
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Mean 7.515

£ 8000 [ eeerre s b e L LOTI RO RRN SRR S PRR RTLIS
8 ] : : RMS 0.2549
(] 1 . . v
> 2500 E_ ................................................................. .................. ‘ .................
2000 [+ -vreeede e A S
1500 - oveeeeesdenee e e e PP
7000 1 S SPPP A . A
SOOE— ----------------------------------------------------------------- : ------------------ : -----------------------------------------------------------------------------------------
ol e e e e e e e
0 50 100 150 200 250 300 350 400



